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23

1.5 2
2011
1995 7
3 15
15 9
2
5 1
5
100
1995 119 348 118 266 83 549] 1483
1996 125 365 124 279 87 582| 1562
1997 126 365 124 279 87 579] 1560
1998 125 366 124 280 87 572| 1554
1999 112 328 111 250 78 532| 1411
2000 109 319 108 244 76 462 1318
2001 87 254 86 194 61 433| 1,115
2002 99 289 98 221 69 441 1217
2003 85 248 84 190 59 410| 1,076
2004 91 266 90 203 63 408 1121
2005 93 273 92 208 65 457 1,188
2006 93 272 92 207 65 405| 1134
2007 81 238 81 182 57 405 1,044
2008 221 76 75 169 53 350 944
2009 226 79 77 174 54 338 948
2010 210 74 72 162 51 327 896
2,002 4,160 1556 3,508 1,095 7,252] 19,573
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